=

I——————————"—_—'—__ e p——— e S
#wet . 196-2 Eiﬁu%ﬁﬁﬂﬁ%ﬂ-t##—ﬁﬂifﬂﬂi#aﬁﬁlﬂ ' £t z E
ZET . AIERETREANME ElE  TED#E

ARERETLE AN IS  JTER - OFTER  (BaEEiagE) SELCW ; 0301

I %/ .

905% (1). Mo FHRPBE LUK RNATHRE AR - REBITERABF 2
TR REES D (DERHAA N UG KFRITUIDER OGS T
AR A ES - BE > ACHRURBRRE-—BRRE G REFH A K
TR A4s(wl ) HHEQ@RRHYBELBRE oIRGB &M%
(b) MW 272 rk o ARt  (RBARMATEAm RITHZREFAHu®

FHhmEERE )

5 — !
*uﬂxdﬂ'}x ;

fﬁﬁ%}/’/% r

A

I5%(2). Mot B AT U B R R0 B KR ENSEE —HRAEAELERTH A
AxXeEdid B vt B R T P OSME SIS HITREKRE |
AEEREFRLHHH - ZRPARAIBDNABMERE G - (REKE
A TEAm EAERBHATNH P OERAr ZIRESHHRITL

KA m o) _ l




It - 156-2 BB AR CRERALBE A F BRI 9 H oB2H
A R L AT | BIE @ TR -

AREESULAGEHANE - Vs » [ 9EAH (WaEBEROR) FHLENE 0301 WK : 2

25%(3). The small sphere of mass m is mounted on the light rod pivoted at O and
supported at end A by the vertical spring of stiffness k. End 4 is displaced a

small distance y, below the horizontal equilibrium position and released. By

the energy method, derive the differential equation of motion for small
osciliations of the rod and determine the expression for its natural frequency @,

of vibration. Damping 1s negligible.

25%(4).The rocket shown is designed to test the operation of a new guidance system.
When it has reached a certain altitude beyond the effective influence of the earth’s

atmosphere, its mass has decreased to 2.80 Mg, and its trajectory is 30° from the
vertical. Rocket fuel is being consumed at the rate of 120 Kg/s with an exhaust

velocity of 640 m/s relative to the nozzle. Gravitational acceleration is 9.34 % 2

at its altitude. Calculate the normal and tangential components of the

acceleration of the rocket.
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